Telescope Worksheet
1. Know the following parts of telescopes and their function:
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2. What is the difference between a reflector and refractor telescope?
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3. On our 8 inch telescope , which partis 8 mcfles?
Cn P€ Mrur
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7. A telescope has an objective aperture of 10 milliniefers in dlameter Whatisthe T¢ v’ large’
maximum effective magnification of this telescope? 0O ma = 0.0 ¢cmm

20x10 = 200 X
8. What is the f-ratio of a telescope with a 15 cm aperture and a focal length of
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9. Complete the chart with the terms in parenthesis
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10. Which would provide a brighter image an 8 inch f/10 or an 8 inch f/6? ﬁ _F/ﬁ

11. Which would provide more magnification, a 6 inch f/8 or a 6 inch f/5?
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12. Which would provide a wider field of view a 4 inch f/6 or a 4 inch /47 f’/é{

13. Using a diagram, explain what the focal length of the eyepiece and the focal
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15. Write the equation that links magmﬁcatmn to the focal length of the objective
and the focal length of the eyepiece. myﬁ FLe
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16. What is the magnification of a telescope if th focal length of the eyepiece is 7 cm
and the focal length of the objective is 140 cm? 140 com
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17. Use this equation to calculate the magnification of the following telescopes,

using an eyepiece with focal length 50 mm?
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18. Complete the chart comparing an eye and a telescope.
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